Models 1251 to 1259

Chassig R=-125
All gnment , Trimmers

STEWART WARNER CORP

Page 1 of 6

MODEL R-125 CHASSIS (Recciver Models 1251 to 1259)

ALIGNING EQUIPMENT

Experience has definitely shown that a selective radio chaasis
such ay the Stewart-Warner Model R125 cannot be properly
aligned by ear or ‘"on the air’’. An output meter and a high
grade modulated service oscillator are absolutely escemtial.

The oacillator should be capable of generating the frequen-
cies of 456 K.C., 600 K.C., 1400 K.C., and a short wave range
extending to 4900 K.C. or more.

When using your oscillator do not rely on calibration curves
for frequency determination but check the frequencies by
comparison with broadeast station signals.

PRELIMINARY STEPS

To align -the R125 chaasis proceed as tollows

I. Remove the chassis from thc cabinet.

2. Connect the output meter across the primary of the out-
put transformer on the dynamic speaker (center and blue
wires on terminal strip.)

3. Furn the volume control to maximum veolume position.

ALIGNMENT OF THE L. F. AMPLIFIER

§. (a) Set the oscillator to exactly---------- 456 K.C.

(b) Connect the output leads ot the oscillator to the
6A7 control grid and ground. .

te) Set the range switch (right hand knob) to the
broadcast position {(fully clockwisa). ake certain that no
station is tuned in.

{d) Carefully adjust the 1.F. Transformer trimmers Nos.
1, 2, 3, and 4 for maximum output mecter deflection.

{e) Repeat the four trimmer adjustments since the ad-
justment of each trimmer has some effect on the others.

BROADCAST RANGE CALIBRATION

I. Check the position of the dial on the condenser shaft by
pushing the rotor plates of the gang condenser to full mesh.
The dial should then read 530 K.C. Plecase note that the plates
should be pushed with the fingers and not turned by means
of the dial for this check.

Turn the range switch {right hand knob) to the max-
mum dlockwise position, which is the broadcast setting.

3. Calibrate the set at the high frequency end. Use a
broadcast station signal between 1300 and 1420 K.C. to cali-
brate the receiver dial. If no such station can be heard, vou
can use a 1400 K.C. signal frem your oscillator provided its
calibration is accurately known.

(a) Turn the set dial to the exact frequency setting of the
signal {either a station or the oscillator).

(b) Carecfully adjust trimmer No. 5 (broadcast oscillator
calibration trimmer} until the signal may be tuned in with
maximum »olume at its correct frequency. setting.

BROADCAST RANGE ALIGNMENT

4. CONNECT A 400 OR 500 OHM, 1 WATT CARBON
RESISTOR IN SERIES WITH THE TEST OSCILLATOR OUT-
PUT AND THE RECEIVER ANTENNA LEAD. THIS RE-
SISTOR MUST REMAIN CONNECTED FOR ALL BROAD-
CAST AND SHORT WAVE ADJUSTMENTS IN ORDER TO
SECURE PROPER ALIGNMENT OF THE ANTENNA STAGE.
GROUND THE RECEIVER. CHASSIS AND CONNECT THE
OSCILLATOR GROUND LEAD TO THE CHASSIS.

5. (a) Set the test oscillator to approximately 1400 K.C.
and carefully tune the receiver to the signal

{b) Adjust trimmers No. 6 and No. 7 (broadcast de-
tector shunt trimmer and broadcast pre-selector shunt trimmer
respectively) for maximum output meter reading.

{c) Retune the receiver and check the adjustments of
trimmers No. 6 and No. 7. Do not touch trimmer No, 5 since
thie will change the calibration.

6. {a) Set the test oscillator to approximately 600 K.C.
and tune the receiver to the signal.

(k) Adjust Trimmer No. 8 (broadcast oscillator padding
trimmer) to get maximum output meter deBection.

{c} Retune the receiver dial te a peak and readjust the
trimmer.

(d) Continue this procedure of adjusting the trimmer
and retuning the set until the output meter reading cannot be
increased. This procedure must be followed or the receiver
will not be properly aligned.

7. Repeat 5 2, 5 b, and 5 c.

SHORT WAVE RANGE CALIBRATION

1. Turn the receiver range switch to the short wave hand
position (counter-clockwise).

2. Adjust the test oscillator to exactly 16,000 K.C. If you
cannot obtain this frequency on your oscillator, ¥ou may use

the accond harmonic of 8000 K.C., the third harmonic of
5333 K.C., or the fourth harmenic of 4000 K.C., all of which
will give a 16,000 K.C. signal.

3. (a). Set the receiver dial at 16.0 M.C. on the dial scale
and acljnat tryimmer No. 9 (shortwave range oascillatorx calibra-
tion trimmer) unatil the signal may be tuned in at the correc:
dial settinig with maximum velume. Usually there will be two
peaks. The proper one is that with the trimmer screw farthest
out.

(b) To be sure you have not adjusted trimmer No.9
to the image frequency, check this point by setting the receivesr
dial to the image frequency, approximately 5.1 M.C., and sec
if the image signal can be heard.: (The image frequency is
always the signal frequency minus twice the 1.F. frequency or
in this case 16,000 — 912 — 15088 K.C. or approximately
15.1 M.C-) If no .ligna! can be heard at 15.1 M.C. dial aetting
even with greatly increased test oscillator output, but can be
hecard at 16.9 M.C. dial setting, Trimmer No. 9 is evidently
improperly adjusted to the image frequency and so must be
reset to the proper peak with the screw farther out. After re-
adjusting trimmer No %, again check to see that the image
comes in at 5.1 M.C. dial setting and not at 16,9 M.C. dial
setting.

Courtesy of nucow.com

SHORT WAVE RANGE ALIGNMENT

4. (a) Tunc the set wery carefully to the osacillator fre-
quency, 16.0 M.C. for maximum output meter reading.

(b) Adjust trimmer No. 10 ({second shortwave range
detector shunt trimmer) to a peak. After thia is done try to
increase the output meter reading by detuning trimmer No.
slightly and retuning the receiver dial. Continue detuning
trimmer No. |0 and retuning the set until maximum output
meter deflection is secured,

IMPORTANT: The antenna coupling condenser marked
A" in the diagram is adjusted to a dehinite capacity at the
factory and should not require any further adjustment. There-
fore do not adjust trimmer "A™ unless it is found that trimmer
No 10 will not peak or if maximum output is obtained with
No 10 cither all the way out or all the way in. If it is neces-
sary to adjust trimmer “A’, turn its adjusting screw all the
way in and then turn it out just far enough to give a aatisfac-
tory peak on No. {0 when trimmer No. 10's adjusting screw
is almost all the way out.

Always readjust No. 10 after adjusting trimmer “A".

(c:! Check the adjustment of trimmer No. 10 by tuning
the receiver to 15.1 M.C. and noting if the image signa! ;s
much weaker than the 16.0 M.C. signal. If the signal at 5.1
M.C. dial setting is equal to or stronger than the 16.0 M.C.
signal, trimmer No. 10 is not set to the proper peak and must
be reset as in 4 (b) until a re-check shows that the signal at
the 16.0 M.C. dial setting is much stronger than that at the 15,1
M.C. image dial setting.

NOTE Fo prevent the trimmers from beinyg jarred out of
adjustment uwse Duco Household Cement or some similar
product to fasten the trimmer screws in position after com-
pleting the alignment. Be careful that you do not apply tooc
much cement because it must not be allowed to yun between
the trimmer plates.
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Schematic,Parte List
Circuit Changes

Chassis R-125 Series and R-125A & 125X

Models 1251 to 1259
R-1251-A to R-1259-A
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RaDIO SERVICE NOTES - MODEL R-125 CHASSIS (RECEIVER MODELS 1251 TO 1259)

PART1 ALIGNMENT OF MDDEL h=126 CHASSIS

Experience has definitely shown that a selective radio ghassis such as

the Stewart-Warner Model R=125 cannot be properly aligmed by ear or

“on the air." An output meter and a high grade modulated service oscillator
are asbsolubtely essential, The oscillator should be capable of generating

the frequencies of 456 KeCe, 600 KeCu, 1400 K.C, and a short vave range
exbending to 4000 K,C, or mores This oscillator must provide a wide renge

of signal oubput ~- very weak for proper aligmment of bhe various bands so
that the A.V.C, circuit will not be actuated and very strong for use when the
receiver is badly oul of adjustimment or for shertwave alignment where harmonics
are usod.

When using your oscillator do nob rely on calibration curves for frequency
determination but check the frequencies by comparison with broadcast sbation
signals,

PRELIMINARY STEPS,

To align the R-125 chassis, proceed as follows:
1, Rewmove the chassis from the cabinet,

2. Comneot the output metal across the primary of the output trans-
former on the dynamic speaker, (Conter and blue terminals)

3. Turn the volume control to maximum volume position,

4, For all adjustments use an all-bakelite aligning tool which has
only a small meter serewdriver tip.

Courtesy of nucow.com

5. At anll times during aligmment use the lowest output meter scale
which will provide a steady reading and adjust the oscillator ocutput so
that the output meter reads near the center of the secale,

6. Reofer to the diagram for the location of trirmer condensars,

VERY TMPORTANT: In aligning all but the I,F, stages it is absolutoly
necessary to have a 400 to 500 ohm resistor in serics with the antéenna lead to
the cgeillators Do not omit Ghis resistggtgg_ﬁhe alipgmment will be incorrect !

I.F, ALIGNMENT

1. Set the test ogeillator to exactly 466 KuCy Connect the output
ieads of oscillator from the 6A7 control grid to ground and set the range switch
(right haend Xnob) to the broadeast position (elockwise), Carefully adj§st the
I.Fe transformer trimmers No. 1,2,3, and 4 for maximum cutput meter deflection.
Repeat the four adjustments since the adjustment of each trimmer has some effect
on the others,
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LOCATION OF MODEL R~125

ALIGNING TRIMIERS

alignment data part 2

lst I.F. transformer trimmers

2nd I, F., transformer trimmers

6 Broadcast oscillator shunt trimmer
8 Broadeast deteetor shunt trimaer
7 Broasdcast Pro-gelector shunt trimmer
8 Broadcast oscillatoy padding trimmer
Q9 Short Wave oscillator shunt trimmer
Q0 Short Wave detector shunt trinmer

BROADCAST BAND ALIGNMENT

1, Check the position of the dial on the condenser shaft by pushing
the rotor plates of the gang condenser to full meshe The dial should then read
53¢ K,C. Pleasc note that the plates should be pushed with the fingers and not
turned by means of the dial for this check.

2. Turn the range switch (right hand lknob) to the maximum clockwise

position, which is the broadcast setting.
Courtesy of nucow.com

3. Whenever possible, use a broadcast station signal between 1300 and
1420 X.Ce to calibrate the reeeiver dial, If no such station can be heard, you
can use a 1400 K.C. signal from your oscillator provided that it is properly
calibrated. To calibrate the set turn its dial to the exact frequency setting
of the signel (either a station or the oscillator) then carefully adjust
trimmer No. 5 (broadeast oscillator shunt trimmer) until the signal is tuned
in with maximun volume at its correct frequency settinge

4, Connect a 400 or 50C ohm, 1 watt carbon resislor in series with
the test oscillabor output and the receiver antenna lead, This resisbor must
remein connected for all broadcast and short wave adjustmonts in order to secure
proper aligmment of bhc antenna stage, Ground tho receiver chacsiz and econncct
the oscillator ground lcad to the chassis,

5. Set the test oscillator to approximately 1400 K.C. and carefully
tune the receiver to the signel, Adjust trimmer No. 6 (broadcast detector
shunt trimmer) and trimmer No, 7 (broadcast pre-seleetor shunt trimmer) for
maximum output meter readinge. Retune the recciver and check the adjustments,
Do not touch trimuer Noe 5 since this will change the calibration.

8. Set the test oscillator to approximately 600 K.Cs and tune the
receiver to the signal, Adjust trimmer No, 8 (broadecast oseillator padding
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Alignment Data,Part 3
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trimmer) to get maximum cutput mster deflection. Retune the receiver dial to a
peak and readjust the trimmer. Continue this procedure of adjusting the trimmer
and retuning the set until the output meter reading csnnot be increased. This
procedure must be followed or the receiver will not be properly aligned.

7« With a 1400 K.C, test osoillator signal, cheok alignment of trimmers
No. 6 and 7.

SHORT WAVE BAND ALIGNMENT .

‘ 1. Turn the receiver range switch to the short wave band position
{oounter-clockwise).

2. Set the test oscillator to give a 16,000 K.C. signal. If your
oscillator cannot resch this frequenocy, use the 2nd harmonio of 8,000 K.C.,
the third harmonic of 5333 K.C., or the fourth harmonioc of. 4000 K.C., all
of whioh will give a 16,000 K.C. signal.

3. To oalibrate this point turn the receiver dial to 168 M.C. on ths
inner dial scele and adjust Trimmer No. 9 (shortwave oscillator shunt trimmer)
to give maximam output. Generally two peaks will be found. Align on the peak
secured with the trimmer sorew farthest out. Then adjust trimmer No. 10 (short-
wave detector shunt trimmer) to a peak., After this is done, try detuning No. 10
in either direction and reture the receiver dial. If this gives a higher out-
put, continue detuning No. 10 and retuning the dial until the maximun output
meter reading is reached. If this procedure results in a lower output, detune
the trimmer in the opposite direotion and retune the dial, etc.

IMPORTANT: The antenna coupling condenser merked "A"™ in the disgrem
is adjusted to a definite capacity at the factory and should not require any
further adjustment. Therefore do not adjust trimmer "A™ unless it is found
that trimmer No. 10 will not peak or if maxirmm output is obtained with No. 10
either all the way out or all the way in. If it is necessary tc adjust
trimmer "A" turn its adjusting screw all the way in and then turn it out just
far snough to give a satisfactory peak on No. 10 when trimmer No. 10's eadjusting
sorew i1z almost all the way out. Courtesy of nucow.com

Always readjust No. 10 after adjusting trimmer “A".

4« Tune the receiver to about 16,1 M.C. and oheck for the image
signal which should be weaker than the 16.0 M.C. signal., If the image is as
strong as the signal it shows that trimmer No. 10 is not properly adjusted.
No signal at 15.1 M.C. but one at 16,9 M.C. shows that trimmer No. 9 is aligned
on the image frequency and thus both No. 9 and 10 must be readjusted at the
proper frequency.

Note: After ocompleting the alignment, all of the trimmers except the
padding and I.F. trimmers should be locked in place with Ambroid or some
8imilar type cement in order that they will not be jarred out of adjustment.



